Climate Graph - Cranbrook
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	Write a description for the following….

Winter Temp: cool winter 

Summer Temp: warm summer
Precipitation: varies throughout the year but is not overly heavy.

-----------------------------------------------------------------------------

Fill in the numerical data for the items below.

Growing Season (# months): 7

Max Temp: 18˚C
Min Temp: -7˚C
Temperature Range: 25˚C 

------------------------------------------------------------------------------

Is this location affected by water?  (Bold) Y or N (p. 33)

Provide support for your answer.

The cool winters are due to the maritime polar air mass that comes over the mountains. It is a warmer air mass and moderates the winter temperature. As well, Cranbrook is in a valley so the descending air is warming up. This explains why it does not rain a lot in Cranbrook. The air mass is descending and Cranbrook is on the west side (rainshadow) of the valley. As well the air mass has already dropped much of it’s moisture passing over the other mountain ranges.

------------------------------------------------------------------------------

Which air mass(es) impact this region?(Powerpoint)

MP, CT, CP

Cause of the precipitation (bold) (powerpoint)
orographic, frontal or convection

------------------------------------------------------------------------------
Describe or draw a diagram that includes words to illustrate how it causes the precipitation. (Powerpoint)
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	What climate region is this location in? (p. 33)

Mountain
Which landform region is this location found in? (p. 37)

Western Cordillera
How was this landform region created? (p. 38-53)

This region is formed through plate tectonics. The plates are moving and are pushing against each other. The pressure and force is causing the plates to go upward and to fold. The result is the creation of folded mountains. There has been some volcanic activity as well.
What type(s) of rock is the landform region composed?

It is made up of all three types of rock: sedimentary, igneous and metamorphic.
Draw a diagram which explains why the landform region looks the way it does today.
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Describe the types of resources in this landform region due to the rock type(s).

This region has many types of vegetation that is able to grow in the sedimentary soils. As well, there are fossil fuels (coal & natural gas)in the sedimentary rock. Due to the igneous and metamorphic rock, there are also many metals that can also be mined in this region.
What vegetation region is this location found in? (p.60)
Cordilleran Vegetation Region
What type of vegetation would occur at this location? (refer to climate data and rock types to back up your answer)

There would be deciduous and coniferous trees growing here. The growing season is 7 months long so the trees would grow to a good height and are anchored in the sedimentary soil in the area. As you go higher into the mountains the vegetation will become more like alpine tundra as the air cools 1 degree Celsius every 100m you go up, thus shortening the growing season. The area also receives a good amount of rain so things can grow.
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